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	Question 1: (1 point)
Suppose that X is strongly positively correlated with Y. Then, going from one data point to another one with a higher X value will, on average, result in a higher Y value.

(a)
True

(b)
False
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	Question 2: (1 point)
Suppose that X is strongly positively correlated with Y. Then, going from one data point to another one with a higher X value will, with near certainty, result in a higher Y value.

(a)
True

(b)
False
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	Question 3: (1 point)
Suppose that X is strongly positively correlated with Y. Then, if you pick a data point and increase its X value, its Y value will almost certainly become larger.

(a)
True

(b)
False
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	Question 4: (1 point)
Suppose that X is weakly positively correlated with Y. Then, going from one data point to another one with a higher X value will, on average, result in a higher Y value.

(a)
True

(b)
False
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	Question 5: (1 point)
By definition, a negative correlation between X and Y means that, on average, making X better will make Y worse.

(a)
True

(b)
False
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	Question 6: (1 point)
Even if a graph shows that the data don’t fall exactly on a straight line, it might still be a good idea to use a linear model.

(a)
True

(b)
False
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	Question 7: (1 point)
One nice thing about the least-squares line of best fit is that it is fairly unaffected by outliers.

(a)
True

(b)
False
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	Question 8: (1 point)
An R-squared value of 0.5 is:

(a)
weak

(b)
medium

(c)
strong

(d)
perfect

(e)
impossible
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	Question 9: (1 point)
An R-squared value of 0.1 is:

(a)
weak

(b)
medium

(c)
strong

(d)
perfect

(e)
impossible
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	Question 10: (1 point)
An R-squared value of 0.98 is:

(a)
weak

(b)
medium

(c)
strong

(d)
perfect

(e)
impossible
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	Question 11: (1 point)
What numeric value for R-squared indicates a perfect correlation?
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	Question 12: (1 point)
Correlation implies causation.

(a)
True

(b)
False
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	Question 13: (1 point)
Causation implies correlation.

(a)
True

(b)
False
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	Question 14: (1 point)
While fitting a straight line is simple enough that Excel can do it, fitting a curve instead is nearly impossible.

(a)
True

(b)
False
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	Question 15: (3 points)
Suppose that drinking alcohol is positively correlated with depression severity (we are not claiming that this is actually true, but just suppose that it is.) That is, if we rate depression severity on a scale with 0 being not depressed and 10 being extremely depressed, and compare it to drinks-per-day, we see a positive correlation.

(a) 

This correlation alone means that if someone cuts back on drinking, they will probably become less depressed.

(a)
True

(b)
False

(b) 

This correlation alone means that if you find someone who drinks less than you do, then on average they will be less depressed than you.

(a)
True

(b)
False

(c) 

This correlation alone means that if you treat someone’s depression, they will probably decrease their drinking.

(a)
True

(b)
False
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	Question 16: (1 point)
The farther away from your data set you want to extrapolate, the less confidence you should have in your answer from the best-fit line.

(a)
True

(b)
False



	
	[image: image36]

	


	[image: image37]
	Question 17: (1 point)
You can judge how well the data fit a line by looking to see if 50 percent of the data points fall above the line and 50 percent below.

(a)
True

(b)
False
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	Question 18: (1 point)
You can judge how well the data fit a line by looking to see how many data points the line hits–if it doesn’t hit any, then it’s a bad fit.

(a)
True

(b)
False
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	Question 19: (1 point)
If you can find a pair of data points where x2 is larger than x1 but y2 is smaller than y1, then the data set can’t have a positive correlation.

(a)
True

(b)
False
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